

**Problem 12289**

(American Mathematical Monthly, Vol.128, December 2021)

Proposed by G. E. Andrews (USA) and M. Merca (Romania).

Prove

$$\sum_{n=0}^{\infty} 2 \cos\left(\frac{(2n+1)\pi}{3}\right) q^{n(n+1)/2} = \prod_{n=1}^{\infty} (1-q^n)(1-q^{6n-1})(1-q^{6n-5})$$

when  $|q| < 1$ .

Solution proposed by Roberto Tauraso, Dipartimento di Matematica, Università di Roma "Tor Vergata", via della Ricerca Scientifica, 00133 Roma, Italy.

*Solution.* Let  $z = e^{\pi i/3}$ , then

$$\begin{aligned} z \sum_{n=-\infty}^{\infty} z^{2n} q^{n(n+1)/2} &= \sum_{n=1}^{\infty} z^{-2n+1} q^{n(n-1)/2} + \sum_{n=0}^{\infty} z^{2n+1} q^{n(n+1)/2} \\ &= \sum_{n=0}^{\infty} z^{-2(n+1)+1} q^{n(n+1)/2} + \sum_{n=0}^{\infty} z^{2n+1} q^{n(n+1)/2} \\ &= \sum_{n=0}^{\infty} (z^{2n+1} + z^{-(2n+1)}) q^{n(n+1)/2} = \sum_{n=0}^{\infty} 2 \cos\left(\frac{(2n+1)\pi}{3}\right) q^{n(n+1)/2}. \end{aligned}$$

On the other hand, by the Jacobi's triple product identity,

$$\sum_{n=-\infty}^{\infty} z^{2n} q^{n(n+1)/2} = \prod_{n=1}^{\infty} (1-q^n)(1+z^2q^n)(1+z^{-2}q^{n-1}).$$

Therefore, since  $z^3 = -1$ , it follows that

$$\begin{aligned} z \sum_{n=-\infty}^{\infty} z^{2n} q^{n(n+1)/2} &= z \prod_{n=1}^{\infty} (1-q^n)(1+z^2q^n)(1+z^{-2}q^{n-1}) \\ &= z(1+z^{-2}) \prod_{n=1}^{\infty} (1-q^n)(1+z^2q^n)(1+z^{-2}q^n) \\ &= \prod_{n=1}^{\infty} (1-q^n) \prod_{n=1}^{\infty} (z-q^n)(z^{-1}-q^n) \\ &= \prod_{n=1}^{\infty} (1-q^n) \prod_{n=1}^{\infty} \frac{1+q^{3n}}{1+q^n} \\ &= \prod_{n=1}^{\infty} (1-q^n) \prod_{n=1}^{\infty} \frac{1-q^{6n}}{1-q^{3n}} \prod_{n=1}^{\infty} \frac{1-q^n}{1-q^{2n}} \\ &= \prod_{n=1}^{\infty} (1-q^n) \frac{\prod_{n=1}^{\infty} (1-q^{6n}) \prod_{n=1}^{\infty} (1-q^n)}{\prod_{n=1}^{\infty} (1-q^{6n})(1-q^{6n-3}) \prod_{n=1}^{\infty} (1-q^{6n})(1-q^{6n-2})(1-q^{6n-4})} \\ &= \prod_{n=1}^{\infty} (1-q^n) \frac{\prod_{n=1}^{\infty} (1-q^n)}{\prod_{n=1}^{\infty} (1-q^{6n})(1-q^{6n-2})(1-q^{6n-3})(1-q^{6n-4})} \\ &= \prod_{n=1}^{\infty} (1-q^n)(1-q^{6n-1})(1-q^{6n-5}). \end{aligned}$$

□